Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Apple Valley Ranchos Water Company	Johnston, Harriet and Johnston, Lawrence W.	TempCarryover FPA	96	\$65.00	\$6,240.00	Alto	4/28/1999
Apple Valley Ranchos Water Company	Summit Valley Ranch	TempCarryover FPA	344	\$60.00	\$20,640.00	Alto	4/28/1999
Apple Valley View Mutual Water Company	Parker Revocable Trust, D. E. and G. J.	TempCarryover in Lieu of Replacem	ent 4	\$55.00	\$220.00	Alto	4/28/1999
Baldy Mesa Water District	Western Water Company	TempCarryover in Lieu of Replacem	ent 1,491	\$55.00	\$82,005.00	Alto	4/28/1999
San Bernardino County Service Area 70L	Western Water Company	TempCarryover in Lieu of Replacem	ent 147	\$55.00	\$8,085.00	Alto	4/28/1999
Southern California Water Company	Hrubik, Thomas A.	TempCarryover in Lieu of Replacem	ent 39	\$60.00	\$2,340.00	Alto	4/28/1999
Southern California Water Company	Johnson, Larry and Carlean	TempCarryover in Lieu of Replacem	ent 40	\$55.00	\$2,200.00	Alto	4/28/1999
Southern California Water Company	Thompson, James A.	TempCarryover in Lieu of Replacem	ent 46	\$55.00	\$2,530.00	Alto	4/28/1999
Thunderbird County Water District	Lawson, Ernest and Barbara	TempCarryover in Lieu of Replacem	ent 12	\$55.00	\$660.00	Alto	4/28/1999
Thunderbird County Water District	Parker Revocable Trust, D. E. and G. J.	TempCarryover in Lieu of Replacem	ent 2	\$55.00	\$110.00	Alto	4/28/1999
Victor Valley Memorial Park	Bass Trust, Newton T.	TempCarryover FPA	50	\$40.00	\$2,000.00	Alto	4/28/1999
Victor Valley Water District	Beinschroth Family Trust	TempCarryover in Lieu of Replacem	ent 600	\$55.00	\$33,000.00	Alto	4/28/1999
Victor Valley Water District	Hrubik, Thomas A.	TempCarryover in Lieu of Replacem	ent 350	\$55.00	\$19,250.00	Alto	4/28/1999
Victor Valley Water District	Longman, Jack	TempCarryover FPA	92	\$55.00	\$5,060.00	Alto	4/28/1999
Victor Valley Water District	Phenix Properties Ltd.	TempCarryover in Lieu of Replacem	ent 522	\$50.00	\$26,100.00	Alto	4/28/1999
Victor Valley Water District	Rancho Las Flores Ltd. Partnership	TempCarryover in Lieu of Replacem	ent 1,550	\$55.00	\$85,250.00	Alto	4/28/1999
Victor Valley Water District	Taylor, Allen C Haymaker Ranch	TempCarryover in Lieu of Replacem	ent 365	\$50.00	\$18,250.00	Alto	4/28/1999
Victor Valley Water District	Thomas Farms	TempCarryover in Lieu of Replacem	ent 352	\$55.00	\$19,360.00	Alto	4/28/1999
Apple Valley Ranchos Water Company	Western Water Company	TempCarryover FPA	303	\$55.00	\$16,665.00	Alto	5/26/1999
Hesperia Water District	Rancho Las Flores Ltd. Partnership	TempCarryover in Lieu of Replacem	ent 3,513		\$1.00	Alto	5/26/1999
Mojave Water Agency	Luckey, Manley J.	FPA-FPA Purchase Program	17	\$40.00	\$680.00	Alto	5/26/1999
Mojave Water Agency	Rancho Las Flores Ltd. Partnership	FPA-FPA Purchase Program	99	\$40.00	\$3,960.00	Alto	5/26/1999

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Mojave Water Agency	Son of Caduceus	Carryover-FPA Purchase Program	37	\$40.00	\$1,480.00	Alto	5/26/1999
Mojave Water Agency	Thompson, Rodger	Carryover-FPA Purchase Program	3	\$40.00	\$120.00	Alto	5/26/1999
Mojave Water Agency	Thrasher, Gary	Carryover-FPA Purchase Program	11	\$40.00	\$440.00	Alto	5/26/1999
San Bernardino County Service Area 70J	San Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	ent 226	\$70.00	\$15,820.00	Alto	5/26/1999
San Bernardino County Service Area 70L	San Bernardino County Service Area 42	TempCarryover in Lieu of Replaceme	ent 15	\$70.00	\$1,050.00	Alto	5/26/1999
San Bernardino County Service Area 70L	San Bernardino County Service Area 64	TempCarryover in Lieu of Replaceme	ent 73	\$70.00	\$5,110.00	Alto	5/26/1999
San Bernardino County Service Area 70L	San Bernardino County Service Area 70C	TempCarryover in Lieu of Replaceme	ent 66	\$70.00	\$4,620.00	Alto	5/26/1999
Southdown, Inc.	Ormsby, Harry G.	TempCarryover in Lieu of Replaceme	ent 89	\$70.00	\$6,230.00	Alto	5/26/1999
Southern California Water Company	Thompson, James A.	TempCarryover in Lieu of Replaceme	ent 10	\$55.00	\$550.00	Alto	5/26/1999
Apple Valley Heights County Water District	Apple Valley Foothill County Water District	TempCarryover FPA	50	\$50.00	\$2,500.00	Alto	6/23/1999
Apple Valley Ranchos Water Company	Bass Trust, Newton T.	TempCarryover FPA	309	\$60.00	\$18,540.00	Alto	6/23/1999
Victor Valley Water District	Wackeen, Caesar	TempCarryover FPA	375	\$25.00	\$9,375.00	Alto	6/23/1999
Victorville, City Of	Dolch, Robert and Judy	TempCarryover FPA	272	\$50.00	\$13,600.00	Alto	6/23/1999
Victorville, City Of	Kemper Campbell Ranch	TempCarryover FPA	151	\$50.00	\$7,550.00	Alto	6/23/1999
Victorville, City Of	Luckey, Manley J.	TempCarryover FPA	180	\$50.00	\$9,000.00	Alto	6/23/1999
Apple Valley Ranchos Water Company	Apple Valley Development	TempCarryover FPA	491	\$35.00	\$17,185.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Boyce Living Trust, Willa M.	TempCarryover FPA	10	\$35.00	\$350.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Brown, Bobby G. and Valeria R.	TempCarryover FPA	30	\$35.00	\$1,050.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Burns, Annie L.	TempCarryover FPA	132	\$35.00	\$4,620.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Dexter, J. P.	TempCarryover FPA	400	\$35.00	\$14,000.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Fisher, Dolores, Dr.	TempCarryover FPA	20	\$35.00	\$700.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Fisher, Jerome	TempCarryover FPA	200	\$35.00	\$7,000.00	Alto	8/25/1999

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Apple Valley Ranchos Water Company	Holway, C. Robert	TempCarryover FPA	42	\$35.00	\$1,470.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	HP Development Company	TempCarryover FPA	226	\$35.00	\$7,910.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Keel, Al J. and Barbara	TempCarryover FPA	55	\$35.00	\$1,925.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Lounsbury, J. Peter and Carolyn	TempCarryover FPA	140	\$35.00	\$4,900.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Low, Robert	TempCarryover FPA	320	\$35.00	\$11,200.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Nunn, Donald and Pearl	TempCarryover FPA	49	\$35.00	\$1,715.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	O'Bryant, Robert C. and Barbara	TempCarryover FPA	32	\$35.00	\$1,120.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Perry, Thomas A.	TempCarryover FPA	20	\$35.00	\$700.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Scoggins, Ronald and Kimberly	TempCarryover FPA	34	\$35.00	\$1,190.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Storm, Randall	TempCarryover FPA	50	\$35.00	\$1,750.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Sudmeier, Glenn W.	TempCarryover FPA	88	\$35.00	\$3,080.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Thompson, James A.	TempCarryover FPA	125	\$35.00	\$4,375.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Thrasher, Gary	TempCarryover FPA	135	\$35.00	\$4,725.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Ward, Ken and Barbara	TempCarryover FPA	47	\$35.00	\$1,645.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	Wyatt Family Trust	TempCarryover FPA	45	\$35.00	\$1,575.00	Alto	8/25/1999
Baldy Mesa Water District	Adelanto, City Of	TempCarryover FPA	1,800	\$35.00	\$63,000.00	Alto	8/25/1999
Victor Valley Water District	Agcon, Inc.	TempCarryover FPA	308	\$25.00	\$7,700.00	Alto	8/25/1999
Victor Valley Water District	Cramer, Margaret Muir	TempCarryover FPA	224	\$25.00	\$5,600.00	Alto	8/25/1999
Victor Valley Water District	Cunningham, William E. and Gloria M.	TempCarryover FPA	24	\$25.00	\$600.00	Alto	8/25/1999
Victor Valley Water District	Dibernardo, John	TempCarryover FPA	163	\$25.00	\$4,075.00	Alto	8/25/1999
Victor Valley Water District	Hi-Grade Materials Company	TempCarryover FPA	120	\$25.00	\$3,000.00	Alto	8/25/1999
Victor Valley Water District	LHC Alligator, LLC	TempFPA	1,355	\$37.50	\$50,812.50	Alto	8/25/1999

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Victor Valley Water District	LHC Alligator, LLC	TempCarryover FPA	1,355	\$37.50	\$50,812.50	Alto	8/25/1999
Victor Valley Water District	Pittman, Leroy W.	TempCarryover FPA	119	\$25.00	\$2,975.00	Alto	8/25/1999
Victor Valley Water District	Riverside Cement Company - Oro Grande Plant	TempCarryover FPA	2,762	\$25.00	\$69,050.00	Alto	8/25/1999
Victor Valley Water District	Spring Valley Lake Country Club	TempCarryover FPA	103	\$25.00	\$2,575.00	Alto	8/25/1999
Victor Valley Water District	Vail, Joseph B. and Paula E.	TempCarryover FPA	100	\$25.00	\$2,500.00	Alto	8/25/1999
Victor Valley Water District	Wakula, John and Helen	TempCarryover FPA	233	\$25.00	\$5,825.00	Alto	8/25/1999
Apple Valley Ranchos Water Company	M. L. J. Corporation	TempCarryover FPA	261	\$35.00	\$9,135.00	Alto	9/22/1999
Apple Valley Ranchos Water Company	Parker Revocable Trust, D. E. and G. J.	TempCarryover FPA	10	\$35.00	\$350.00	Alto	9/22/1999
Hamilton, Et Al.	Bastianon, Remo E.	TempCarryover FPA	50	\$25.00	\$1,250.00	Alto	9/22/1999
		Alto Subtotal (75)	23,579		\$824,036.00		

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Conner, William H.	Hilarides, Frank	TempCarryover FPA	15	\$25.00	\$375.00	Baja	4/28/1999
Conner, William H.	Hilarides, Frank	TempCarryover in Lieu of Replacement	t 5	\$25.00	\$125.00	Baja	4/28/1999
Crystal Lakes Property Owners Association	Johnson, James R. and Ellen	TempCarryover in Lieu of Replacement	t 28	\$50.00	\$1,400.00	Baja	4/28/1999
Lake Jodie Property Owners Association	Angerer, Robert J. and Peggy	TempCarryover FPA	20	\$30.00	\$600.00	Baja	4/28/1999
O. F. D. L., Inc.	Van Diest, Cornelius	TempCarryover in Lieu of Replacement	t 38	\$50.00	\$1,900.00	Baja	4/28/1999
Randolph, Joan E.	Ward, Ernest and Laura	TempCarryover in Lieu of Replacement	t 17	\$70.00	\$1,190.00	Baja	4/28/1999
Sunray Energy, Inc.	Alta Power Generation L.L.C.	TempCarryover FPA	475	\$0.00	\$0.00	Baja	4/28/1999
Sunray Energy, Inc.	Alta Power Generation L.L.C.	TempCarryover in Lieu of Replacement	t 225	\$0.00	\$0.00	Baja	4/28/1999
Triple H Partnership	Arguelles, Alfredo	TempCarryover FPA	100	\$0.00	\$0.00	Baja	4/28/1999
Triple H Partnership	Mizrahie, Et Al.	TempCarryover FPA	250	\$0.00	\$0.00	Baja	4/28/1999
Western Rock Products	Ward, Ernest and Laura	TempCarryover in Lieu of Replacement	t 4	\$50.00	\$200.00	Baja	4/28/1999
Western Rock Products	Ward, et al.	TempCarryover in Lieu of Replacement	t 7	\$50.00	\$350.00	Baja	4/28/1999
WLSR, Inc.	Johnson, James R. and Ellen	TempCarryover in Lieu of Replacement	t 30	\$50.00	\$1,500.00	Baja	4/28/1999
WLSR, Inc.	Smith, William E. and Patricia A.	TempCarryover in Lieu of Replacement	t 11	\$100.00	\$1,100.00	Baja	4/28/1999
Calico Lakes Homeowners Association	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replacement	t 67	\$30.00	\$2,010.00	Baja	5/26/1999
Cheyenne Lake, Inc.	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replacement	t 16	\$25.00	\$400.00	Baja	5/26/1999
Daggett Community Services District	Price, Donald and Ruth	TempCarryover in Lieu of Replacement	t 1	\$25.00	\$25.00	Baja	5/26/1999
Daggett Community Services District	Price, Donald and Ruth	TempCarryover FPA	27	\$25.00	\$675.00	Baja	5/26/1999
Daggett Community Services District	Western Horizon Associates, Inc.	TempFPA	60	\$25.00	\$1,500.00	Baja	5/26/1999
Hiett, Harry J. and Clarice M.	Price, Donald and Ruth	TempCarryover in Lieu of Replacement	t 3	\$25.00	\$75.00	Baja	5/26/1999
Hiett, Harry J. and Clarice M.	Price, Donald and Ruth	TempCarryover FPA	2	\$25.00	\$50.00	Baja	5/26/1999
Lee, Vin Jang T., Phd.	Kasner, Robert	TempCarryover in Lieu of Replacement	t 127	\$0.00	\$0.00	Baja	5/26/1999

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Mojave Water Agency	Barak, Richard	Carryover-FPA Purchase Program	5	\$40.00	\$200.00	Baja	5/26/1999
Mojave Water Agency	Brown, Ronald A.	Carryover-FPA Purchase Program	63	\$40.00	\$2,520.00	Baja	5/26/1999
Mojave Water Agency	Carter, John Thomas	FPA-FPA Purchase Program	14	\$40.00	\$560.00	Baja	5/26/1999
Mojave Water Agency	Cho Brothers Ranch	Carryover-FPA Purchase Program	3	\$40.00	\$120.00	Baja	5/26/1999
Mojave Water Agency	De Jong, Alan L.	Carryover-FPA Purchase Program	63	\$40.00	\$2,520.00	Baja	5/26/1999
Mojave Water Agency	Dick Van Dam Dairy	Carryover-FPA Purchase Program	178	\$40.00	\$7,120.00	Baja	5/26/1999
Mojave Water Agency	Hilarides, Frank	FPA-FPA Purchase Program	45	\$40.00	\$1,800.00	Baja	5/26/1999
Mojave Water Agency	Kim, Joon Ho	Carryover-FPA Purchase Program	19	\$40.00	\$760.00	Baja	5/26/1999
Mojave Water Agency	Kim, Joon Ho	FPA-FPA Purchase Program	30	\$40.00	\$1,200.00	Baja	5/26/1999
Mojave Water Agency	Liang, Yuan - I and Tzu - Mei Chen	Carryover-FPA Purchase Program	4	\$40.00	\$160.00	Baja	5/26/1999
Mojave Water Agency	New Springs Limited Partnership	Carryover-FPA Purchase Program	35	\$40.00	\$1,400.00	Baja	5/26/1999
Mojave Water Agency	Reeves, Richard	Carryover-FPA Purchase Program	11	\$40.00	\$440.00	Baja	5/26/1999
Mojave Water Agency	Rossi, James L. and Naomi I.	Carryover-FPA Purchase Program	30	\$40.00	\$1,200.00	Baja	5/26/1999
Mojave Water Agency	Southern California Edison Co Agriculture	Carryover-FPA Purchase Program	247	\$40.00	\$9,880.00	Baja	5/26/1999
Mojave Water Agency	Van Diest, Cornelius	Carryover-FPA Purchase Program	34	\$40.00	\$1,360.00	Baja	5/26/1999
Mojave Water Agency	Western Horizon Associates, Inc.	Carryover-FPA Purchase Program	53	\$40.00	\$2,120.00	Baja	5/26/1999
St. Antony Coptic Orthodox Monastery	Western Horizon Associates, Inc.	TempCarryover FPA	64	\$30.00	\$1,920.00	Baja	5/26/1999
St. Antony Coptic Orthodox Monastery	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replaceme	ent 36	\$30.00	\$1,080.00	Baja	5/26/1999
Wet Set, Inc.	Western Horizon Associates, Inc.	TempCarryover in Lieu of Replaceme	ent 20	\$25.00	\$500.00	Baja	5/26/1999
Calico Lakes Homeowners Association	Martin, Michael D. and Arlene D.	TempCarryover FPA	35	\$25.00	\$875.00	Baja	6/23/1999
Felix, Alan E. and Carol L.	Western Horizon Associates, Inc.	TempCarryover FPA	10	\$25.00	\$250.00	Baja	6/23/1999
Lake Jodie Property Owners Association	Southern California Edison Company - Agricultur	TempFPA	100	\$25.00	\$2,500.00	Baja	6/23/1999

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Alta Power Generation L.L.C.	Sunray Energy, Inc.	TempCarryover FPA	175	\$0.00	\$0.00	Baja	8/25/1999
Crystal Lakes Property Owners Association	Johnson, James R. and Ellen	TempCarryover FPA	80	\$15.00	\$1,200.00	Baja	8/25/1999
Crystal Lakes Property Owners Association	Johnson, James R. and Ellen	TempCarryover FPA	10	\$50.00	\$500.00	Baja	8/25/1999
Crystal Lakes Property Owners Association	Parker, George R.	TempCarryover FPA	111	\$15.00	\$1,665.00	Baja	8/25/1999
Kasner, Robert	Hilarides, Frank	TempCarryover FPA	500	\$10.00	\$5,000.00	Baja	8/25/1999
Kim, Joon Ho	De Jong, Alan L.	TempCarryover FPA	200	\$0.00	\$0.00	Baja	8/25/1999
Lake Wainani Owners Association	Western Horizon Associates, Inc.	TempCarryover FPA	100	\$30.00	\$3,000.00	Baja	8/25/1999
Lee, Vin Jang T., Phd.	Hilarides, Frank	TempCarryover FPA	448	\$10.00	\$4,480.00	Baja	8/25/1999
San Bernardino Co Barstow - Daggett Airport	Western Horizon Associates, Inc.	TempCarryover FPA	80	\$20.00	\$1,600.00	Baja	8/25/1999
The 160 Newberry Ranch California, Ltd.	Southern California Edison Company - Agricultur	TempFPA	300	\$15.00	\$4,500.00	Baja	8/25/1999
Western Horizon Associates, Inc.	Cho Brothers Ranch	TempCarryover FPA	550	\$0.00	\$0.00	Baja	8/25/1999
		Baja Subtotal (55)	5,181		\$75,905.00		

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Christison, Joel	Meyers, Lonnie	TempCarryover in Lieu of Replacement	t 15	\$50.00	\$750.00	Centro	5/26/1999
Mojave Water Agency	Contratto, Robert and Ersula	Carryover-FPA Purchase Program	10	\$40.00	\$400.00	Centro	5/26/1999
Mojave Water Agency	Jordan, Raymond	FPA-FPA Purchase Program	13	\$40.00	\$520.00	Centro	5/26/1999
Mojave Water Agency	Soppeland, Wayne	Carryover-FPA Purchase Program	4	\$40.00	\$160.00	Centro	5/26/1999
Mojave Water Agency	Van Dam, Eldert and Susan	Carryover-FPA Purchase Program	15	\$40.00	\$600.00	Centro	5/26/1999
Sun 'N Sky Country Club	Ruisch, Dale W.	TempCarryover FPA	11	\$40.00	\$440.00	Centro	5/26/1999
Sun 'N Sky Country Club	Ruisch, Dale W.	TempCarryover in Lieu of Replacement	t 4	\$40.00	\$160.00	Centro	5/26/1999
Apple Valley Ranchos Water Company	Hill, Melvin	TempFPA	500	\$45.00	\$22,500.00	Centro	8/25/1999
Ykema Trust	Soppeland, Wayne	TempCarryover FPA	525	\$0.00	\$0.00	Centro	8/25/1999
		Centro Subtotal (9)	1,097		\$25,530.00		

Mojave Basin Area Watermaster

Temporary Transfers 1998-99 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Bar H Mutual Water Company	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replacemen	nt 1	\$5.00	\$5.00	Este	4/28/1999
Bar H Mutual Water Company	Mitsubishi Cement Corporation	TempCarryover FPA	39	\$5.00	\$195.00	Este	4/28/1999
Center Water Company	Mitsubishi Cement Corporation	TempCarryover FPA	13	\$5.00	\$65.00	Este	4/28/1999
Hert, Scott	Mitsubishi Cement Corporation	TempCarryover FPA	50	\$5.00	\$250.00	Este	4/28/1999
Jubilee Mutual Water Company	Mitsubishi Cement Corporation	TempCarryover FPA	114	\$5.00	\$570.00	Este	4/28/1999
Jubilee Mutual Water Company	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replacemen	nt 9	\$5.00	\$45.00	Este	4/28/1999
Juniper Riviera County Water District	Mitsubishi Cement Corporation	TempCarryover FPA	15	\$5.00	\$75.00	Este	4/28/1999
Moss, Lawrence W. and Helen J.	Mitsubishi Cement Corporation	TempCarryover FPA	35	\$5.00	\$175.00	Este	4/28/1999
Reed, Mike	Mitsubishi Cement Corporation	TempCarryover FPA	21	\$5.00	\$105.00	Este	4/28/1999
Southern California Water Company	Mitsubishi Cement Corporation	TempCarryover FPA	15	\$5.00	\$75.00	Este	4/28/1999
Southern California Water Company	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replacement	nt 5	\$5.00	\$25.00	Este	4/28/1999
Spillman, James R. and Nancy J.	Mitsubishi Cement Corporation	TempCarryover FPA	19	\$5.00	\$95.00	Este	4/28/1999
Desert Dawn Mutual Water Company	Mitsubishi Cement Corporation	TempCarryover FPA	12	\$5.00	\$60.00	Este	5/26/1999
Desert Dawn Mutual Water Company	Mitsubishi Cement Corporation	TempCarryover in Lieu of Replacemen	nt 2	\$5.00	\$10.00	Este	5/26/1999
Mojave Water Agency	Bell, Chuck	FPA-FPA Purchase Program	26	\$40.00	\$1,040.00	Este	5/26/1999
Mojave Water Agency	Club View Partners	Carryover-FPA Purchase Program	53	\$40.00	\$2,120.00	Este	5/26/1999
Mojave Water Agency	Pettigrew, Dan	Carryover-FPA Purchase Program	46	\$40.00	\$1,840.00	Este	5/26/1999
Mojave Water Agency	Stringer, W. Edward	Carryover-FPA Purchase Program	26	\$40.00	\$1,040.00	Este	5/26/1999
Bell, Chuck	Pettigrew, Dan	TempCarryover FPA	175	\$0.00	\$0.00	Este	8/25/1999
		Este Subtotal (19)	676		\$7,790.00		

Mojave Basin Area Watermaster

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Hettinga, Hein and Ellen	Van Dam Brothers	TempCarryover in Lieu of Replacen	ient 57	\$0.00	\$0.00	Oeste	5/26/1999
San Bernardino County Service Area 70L	Aerochem, Inc.	TempCarryover in Lieu of Replacen	ent 521	\$70.00	\$36,470.00	Oeste	5/26/1999
San Bernardino County Service Area 70L	San Bernardino County Service Area 70G	TempCarryover in Lieu of Replacen	ient 23	\$70.00	\$1,610.00	Oeste	5/26/1999
San Bernardino County Service Area 70L	Van Dam Brothers	TempCarryover in Lieu of Replacen	ent 290	\$70.00	\$20,300.00	Oeste	5/26/1999
Hettinga, Hein and Ellen	Van Dam Brothers	TempCarryover FPA	143	\$0.00	\$0.00	Oeste	6/23/1999
		Oeste Subtotal (5)	1,034		\$58,380.00		
		Total (163)	31,567		\$991,641.00		